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PAPER ONE

Part I LISTENING COMPREHENSION (15 minutes, 15 points)



Section A (1 point each)
Directions: In this part, you will hear nine short conversations between two speakers. At

1. A.
B.
C.
D

2. A
B
C.
D

3. A
B.
C
D

4. A
B.
C
D

5. A
B.
C.
D

6. A
B.
C.
D

[\*]

the end of each conversation a third voice will ask a question about what was
said. The questions will be spoken only once. Choose the best answer from the
four choices given by marking the corresponding letter with a single bar across

the square bracket on your Machine-scoring Answer Sheet.

It is important to care for the balance of our diet.
Vitamin pills are absolutely useless in preventing colds.

Vitamins are also medicine.

. We need to take vitamin pills besides balanced meals.

. Two days ago, 50 families tried to leave the town.

. Two days ago, there was a bloody murder in the town by the river.

Fifty families in the town fought against the flood by the river.

. Two days ago, the disaster made a lot of people homeless.

. They did go on honeymoon immediately after their wedding .

They spent a week having honeymoon .

. They went on their honeymoon a week after their wedding.

. They thought a honeymoon of one week was too short.

. Jean was too busy to go shopping.

Jean saw her sister downtown yesterday.

.. Jean and her sister had a lot of time to spend.

. Jean wasn’t a good buyer of dresses like her sister.

. The monkey made fun of Laura.

Laura’s monkey couldn’t dance.

Laura’s monkey made fuhny expressions.

. Laura’s monkey danced in the corridor.

. He isn’t aware of the consequences of smoking.

He believes that smoking helps to keefa his figure.
He’s afraid of losing weight if he quits smoking .

. He thinks smoking can make him handsome.
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. Mr. Scott was late for the party.

Mr. Scott didn’t attend the party at all.
Mr. Scott attended the late party.
Mr. Scott did not like attending parties.

. No person had been found missing by nightfall.

The rescue work had come to an end by nightfall.
Nine persons couldn’t be found by nightfall.

. All the people had been rescued by nightfall.

. He answered all the questions very well.
. He left as soon as he heard the last question.
. He left after he asked only one question.

. He answered all the questions but one very well.

Section B (1 point each) :
Directions: In this part you will hear two short passages. At the end of each passage, there

11.

12.

OO w»

oOow

oo w

will be some questions. Both the passages and the questions will be read to you
only once. After each question, there will be a pause. During the pause, you
must choose the best answer from the four choices given by marking the corre-
sponding letter with a single bar across the square bracket on your Machine-

scoring Answer Sheet.

. Because it was easier to train the recruits on a lake than on the ocean.

. Because about half of the recruits came from the area.
. Because a canal could be used to connect the lake with the ocean.

. Because the enemy came from the lake at that time.

. To train recruits to stay physically fit and hygienic.

To provide education on the problem of drugs.

To train recruits and give them specific skill training.

. To assign recruits to ships or aircraft for service.

. Less emphasis on the military training.

More emphasis on the human aspects of working in the military.
More empbhasis on the education on drugs.

Less emphasis on the education on tradition.



13.

14.

15.

A. One-half B. One-third
Two-thirds D. One-fourth

0

. Most of them are left-handed.
They have their own language.
They don’t seem to think alike when they are far apart.

oo w»

. They have strong power to know something happens or will happen.

. How twins are born.
. Twins and their parents.

. The characteristics of twins.

o 0O w »

. Twins’ proportion in population.

Part I VOCABULARY (10 minutes, 10 points)

Section A (0.5 point each)

Directions: There are ten questions in this section. Each question is a sentence with one word

16.

17.

18.

19.

20.

4

or phrase underlined. Below the sentence are four words or phrases marked A,
B, Cand D. Choose the word or phrase that is closest in meaning to the under-
lined one. Mark the corresponding letter with a single bar across the square

bracket on your Machine-scoring Answer Sheet.

It is doubtful whether anyone can be a truly impartial observer of events.

A. related B. impassive C. genius : D. unprejudiced

It is difficult to discern the sample that is on the slide unless the microscope is adjusted
properly .

A. overlook B. disclaim C. discard D. detect

After three months’ training, these students can explicitly interpret what they have ob-

served.

A. inextricably B. roughly C. cleverly D. clearly

At every stage of life we sustain losses and grow in process.

A. endure B. make C. overcome D. fight against

The nurse was dismissed because she was found to be negligent.
A. disregardful B. negative C. lethal D. legible



21.

22.

23.

24.

25.

Don’t meddle in my affairs, and in fact I can handle them properly by myself.

A. interfere B. interest C. involve . D. attend

Deceptively simple in design, the sculptural works of George Norton incorporate a broad
range of textures, sizes, and contours. -
A. Misleadingly  B. Generally C. Noticeably D. Exceptionally

This improvement meant that the exposure time was reduced to only a fraction of a sec-

ond in bright light.
A. fracture B. number C. fragment D. minority

The lawyer made an appeal to the judge, asking him to be gentle with his clients.’
A. a pledge B. a demand C. aplea D. an excuse

Yet beyond that tragic picture, there is a revolution at work in world agriculture.

A. reflective B. grievous C. intolerable D. illusive

Section B (0.5 point each)

Directions: There are ten questions in this section. Each question is a sentence with some-

26.

27.

28.

29.

thing missing. Below each sentence are four words or phrases marked A, B, C
and D. Choose one word or phrase that best completes the sentence. Mark the
corresponding letter with a single bar across the square bracket on your Ma-

chine-scoring Answer Sheet.

The meeting was over by the mayor to discuss the tax raise in the city.

A. presumed B. propelled C. presided D. pricked

He gradually that her parents had been right and his decision had to be modi-
fied. ’ )

A. perceived B. pioneered C. plagued D. transformed »

A man who could such treatment was a man of remarkable physical courage
and moral strength. ’

A. bear upon B. take on C. stand up to D. persist in

A passion for the theatre which may demonstrate all the ways of life can be a fairly satis-
fying for life.

A. substance B. imitation C. repetition D. substitute



30. His strange behavior greatly me and my friends as well that evening.

A. perplexed B. exhausted C. exclaimed D. exceeded "

31. They those who didn’t conform to their ideas, and took advantage of those

who agreed with them.
A. explored B. persecuted C. extended D. pinched

32. According to the international regulation, the playing of the national anthem

all sports events.

A. repels B. remarks C. precedes D. requires

33. We all knew from the very that the plan would fail. Now you see it becomes
true. ,
A. outcome B. outset C. upshot D. outbreak

34. His constant attempts to ___ his colleagues’ achievement eventually caused his dis-
missal. .
A. withdraw B. diminish C. restrain D. confine

35. They have the dance many times for the better effect before they perform in

the theater.
A. overtaken B. interchanged C. entreated D. rehearsed

Part  CLOZE TEST (10 minutes, 15 points, 1 point each)

Directions: There are 15 questigns in this part of the test. Read the passage through.
Then, go back and choose one suitable word or phrase marked A, B, C, or D
for each blank in the passage. Mark the corresponding letter of the word or
phrase you have chosen with a single bar across the square bracket on your Ma-

chine-scoring Answer Sheet.

Anyone trying to recover in the wake of last week’s visit by Hurricane Bonnie probably
isn’t feeling especially lucky at the moment. Good fortune isn’t the first thing you think of
when your living room is full of 36 , your roof is missing, your power has been out for
days on __37 . But considering the destruction that often accompanies storms of this
38 , residents of North and South Carolina and Virginia _ 39 remarkably lightly.

Only three people died. Property 40 was far lower than it might have been. Beaches

remained largely intact.
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41 , the storm reinforced the popular belief that hurricanes are so thoroughly
tracked, probed and forecast these days that they cannot possibly cause great loss of life.
Scientists don’t share that optimism, _ 42 . Many believe we’re entering a cycle in which
violent storms are going to be more frequent, and in which the likelihood of a __ 43  strike
will be greater than ever. The scientists’ pet nightmare is of the Big One—a catastrophic
storm that could do $ 100 billion dollars’ 44  of damage and kill thousands of people. No
one knows when or where the Big One will 45 but the certainty is growing that it will.

Even a Little One like Bonnie, of course, can do plenty _ 46 . Some half a million
people were forced to flee inland last week, as the 400-mile-wide storm-—mammoth in size
even by hurricane standards—_ 47  toward Cape Fear, N.C.. And though Bonnie’s 115-
m.p. h. winds slowed rapidly as she lumbered inland, her forward progress _ 48  too,
with the result that the storm _ 49  the state and struck it repeatedly for more than a day.
Downed power lines robbed over 240,000 people of electricity. Even worse than the winds
were the rains more than 12 inches in some places—which caused the flooding in North and
South Carolina. When the crisis seemed to be over, Bonnie regained some of her __ 50 to

pound Virginia before heading out to sea.

36. A. mud B. earth C. soil D. grease

37. A. hand B. purpose C. standing D. end

38. A. magnitude B. magnet C. majesty D. manifestation,
39. A. got up B. got out C. got off D. got on

40. A. casualty B. damage C. hazard . D. harm

41. A. If everything B. If something C. If nothing D. If anything
42. A. whatever B. whereas C. however D. as well

43. A. strategic B. overwhelmed C. notorious D. disastrous
44. A. worth B. value C. price D. worthy

45. A. fall B. knock C. hit D. beat

46. A. for destruction B. as damage C. of harm ‘D. on loss

47. A. swirled B. hurried C. removed D. flowed

48. A. quickened B. slowed C. shortened D. strengthened
49. A. rode in B. suspended on C. hovered over D. headed for
50. A. fuss B. fusion C. fringe D. fury

Part N READING COMPREHENSION (45 minutes, 30 points, 1 point each)

Direction: In this part of the test, there are five short passages for you to read. Read each
passage carefully, and then do the questions that follow. Choose the best answer
A, B, .C, or D and mark the corresponding letter with a single bar across the

7



square bracket on your Machine-scoring Answer Sheet.

Passage One

The list of “should” is very long. You should give more than 100 per cent at work. You
should never stop learning and developing. You should read and keep up with events. You
should spend time with your family and take care of your myriad of daily chores.

At work, it’s not enough to be qualified for your job. You have to have excellent people
skills and problem-solving abilities. Your 1Q had better be high, and you should welcome
anything and everything new. Commitment and enthusiasm are the bottom line.

At home, it’s not enough to have money in the bank. There are children to raise,
hobbies to encourage and daily routines to organize. Contacts between home and the day care
center or school are another priority. You have to keep up your friendships and your family
relationships. You have to have empathy for everyone around you. You have to have time.

How do we catch a guilty conscience? Finns in Business asked family counselor Hannu
Kuukka from the Helsinki parish services. “A bad conscience comes from conflicting
pressures, from the feeling that you just can’t manage everything that you consider
important. Frustration and stress are the result.”

“Our internalized roles—the role models that we subconsciously follow—also contribute
to the problem. Throughout our lives, we carry with us the part we played in our own
family. This can be a source of encouragement and support, or the seeds of a bad
conscience. ” '

What can we do for a bad conscience? “Our failures tend to become exaggerated in our
minds, especially if someone close to us verbalizes them . You have to set priority. Couples
should decide together if one of them is going to concentrate on work and the other on
family. The couple is the foundation of the home, so they have to find common ground, ”
comments Hannu Kuukka.

At work, you spend your time with adults, and you can excel in your own field. Are
you more comfortable at work than at home? This is a common feeling—ahd another source
of guilt. “It is not unusual for relationships at work to be easier and more straightforward
than those at home. The everyday life of a family with children can be exhausting. And
today, with growing competition and more friction at work, even these relationships have

become more difficult, ” says Kuukka.

51. The purpose of the first paragraph is to
A. itemize what people have to accomplish in their lives
B. brief a real but tough situation for couples to cope with

C. explain why some people long for a break of routine



52.

53.

54.

55.

56.

57.

D. show how a full-time job goes against a family life

According to the author, the decisive factor for one to perform well at work is

. responsibility and devotion
right qualifications

originality and open-mindedness
an IQ at least above 130

©Sow >

What seems always problematic for one’s family life is that

A. money never seems to be enough

B. friendships and family relationships are hard to keep up

C. one simply can’t afford the time '

D. it’s impossible to share feelings with everyone around

According to the passage, the constant cause of a bad conscience lies in the fact that

. one attempts to achieve a good Balance between work and family-life
people have unknowingly played stereotyped sex roles in family

our minds are beset with exaggerated information about family problems

Dow

. no couple is capable of handling more than one thing at a time

What does the underlined pronoun ’them’ (line 19) refer to in the context?
A. Minds '

B. Parents

C. Failures

D. Priorities

As suggested by Kuukka, the right way to approach the problem is to
A. exchange role models between the couple in the same boat

B. look at the same problem from a different perspective

C. turn a deaf ear to whatever other people would say

D. get the couple’s priorities right to ensure a rewarding life

From the last paragraph, it can be safely inferred that

A. work relationships are as difficult to keep up as fémily relationships

B. working parents usually feel more comfortable at work than at home

C. growing competition has affected the otherwise good terms with co-workers

D. the best moment of the day is when you might have escaped from family chores
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